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B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2015
PART-II

ECONOMICS - General
Paper- II

Duration : 3 Hours Full Marks : 100

The figures (n the margin indicate _full mariks.

A Ao 2jfarmr e |
Group - A
e -
1. Answer any ten questions from the following : 10x 2 =20
a) What is Net National Prc;duct (NNP) ?
b) What is the difference between GDP and GNP ?

GDP 938 GNP-43 Y] )i fF 2

c) What do you mean by injection into the circular flow of national
income ?

d) What do you mean by 'Reserve money' ?

e) What do you mean by Black money ?
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f) What is meant by value of money ?

g) What is Marginal Propensity to Save (MPS) ?

h) What do you mean by net investment ?

1) Calculate equilibrium national income where. Y =C+I, C=100+0-5Y
and I = 50.

b)) What is meant by IS curve ?

k) What is stagflation ?

1) Define Cash Reserve Ratio (CRR).

m) What is secondary deposit ?

n) What do you mean by Dumping policy in international trade ?
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Group - B
feom -4

Answer any five questions 5x 16 =80

Q- Ao e Owr i ¢

Define national income. Explain the concept of circular flow of national income.
4+ 12

What are the different processes of calculating national income ? What do you
mean by value addition in the production process ? Explain the value added

process of calculating national income. 2+4+10

To o Hfuns [fen safecs & & ¢ Seavm ofFan o ERW e &
QIRA ? TS A ARAAR o7 FALITA ofafofd I I |

What are average propensity to consume and marginal propensity to consume ?
What is consumption function ? What are the major factors determining

Keynesian consumption function ? 3+5+8

T (S5 AITS € AT (S9! 2GS BILE A ? (S WAHFS IS F QAR 2 (P2
(OBl SoM%d (P (I 24 7EY g Faffie 23

What do you mean by Marginal Efficiency of Capital ? Explain the determining

factors of marginal efficiency of capital. 6+ 10

TR AR wwel e [ QIRA ¢ R e wrel Rafarem Remmgg 7T
SIS I |

What do you mean by effective demand ? Explain how equilibrium income is

determined by effective demand in the simple Keynesian model. 4+ 12

IF B IS F QRA ¢ TG (@A T0OCa IR GIEAR A= Ferd e
w1y fuffs za ot qp I
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7.

10.

11.

What do you mean by monetary base of a country ? Explain the concepts of
M,. M, and Mg as the indicators of money supply. 4+ 12

@R R WY fofE 3ere & @mrm 2 oY @t o 2o M. My a8 ‘M,~R
Yo ofE A I |

What is inflation ? Explain the nature and causes of demand pull and cost push
inflation. 4+12

TP & 2 oifEm 3fe-wfs ¢ 3w Ifwfe Turdifen el e IR g 32|

Define direct and indirect taxes. Discuss the advantages and disadvantages of
these two types of taxes. - 6+10

ASTH @ HATATE IR A i | 92 MR 2R I3 R 8 PR Semn1 3 |

What is the protection policy of international trade ? Explain the arguments in

favour and against the protection policy of international trade. 4+ 12

G fow e ATHTEs S TS & QI 2 @2 AFTF qfor 40F @ Reors oo

FITADBART PP |
Write short notes on any two of the following ::\ 2x8=16
a) Say's law of market
R FF Say-93 Jd
b)’ Investment multiplier
Rfrzns oo

c) Public debt

d) Advantages’of free trade.
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West Bengal State University

PART - 11

ECONOMICS — GENERAL
Paper - III

Duration : 3 Hours | [ Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.
The figures in the margin indicate full marks.

GROUP - A
Rert-a
1.  Answer any ten questions from the following : 10 x2 =20
- w1 o vre Teg i
a)  What is poverty line ?
wifaey A & 2
b) Distinguish between seasonal unemployment and disguised unemployment.

R RIAT € TA [IRCHT NLI] FFF

c) Mention two objectives of land reforms in India.

SRS GRFEIEA 46 S S I 1 )

d) Give two examples of indirect tax.

CER (L RO
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e) Define large scale industries.

IWITA PrErg e fas

f) What is secondary sector in the National economy ?

e weAfere Wi cva I970s [ @A 2

g) Write two causes of industrial disputes in India.

orce Rl 1o ard fom

h) Mention two failures of India’s Five-Year Plans.

TR AP R Tq=e 4fb wdfer Sy %4 |

i) Mention the names of two important export goods of India.

SRS qb A A TR AN SEY FF

j) What is foreign capital ?

Qe yerm & 2

k)  Mention two problems of agricultural credit in India.
SRS P @l W qfo Fem PorE

1) What is privatisation ?

@ERJPAFA IF IET ?

m) What is the population in India as per Census, 2011 ?

2011 S SMATNR TR GRS SN PO ?

n) Mention two sources of finance of large scale industries in India.

OIICS A RIts WL 4o Test Sray

0) What is fiscal deficit ?
G QS IICF I 2
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GROUP - B
Reta-4
Answer any five questions. 5x 16 =80
@ @R A6 e Tag A |
2.  Explain the causes of low productivity in Indian agriculture. What remedies have
been undertaken to overcome this problem ? 10+6

SR I T TeAwNiaoR IRGSRT A FFR @¥ wem AFACR o 5
IR (ST TR ?

3. Analyze the impact of population growth on Indian economic development.
ORISR WA TATER o ol IR eord e 399 |

4.  Discuss the case for and against Co-operative Farming.

o | = .
S. Briefly discuss the changes in India’s industrial structure after economic
liberalisation.

AT BRRIFACR ARTHTe SRR fE Tome (@ & AR @R, O WeEe
ferE |

6. What are small scale and cottage industries ? Discuss the problems faced by these

industries in India. 6+ 10
%Y @ 51X P A i | oRte w2 Feel @ @ SR AN 7, © WEeAl
FHA |

7.  Discuss the recent trends of Balance of Payments situation of India.

RIS CIAMA AR IGTH sfo-ePfs 7IE NI IF
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8. Critically discuss the role of foreign aid in Indian economic development.

TS THATET TSI QAP ARIAR G 61 3% |

9.  What are the objectives of nationalisation of commercial banks in India ? How far
these objects have been fulfilled ? 8+8
oRte Affene arE GO Sremef 5 5 2 @} Sremefn soR A zoww

10. Define Industrial sickness. What are the causes of industrial sickness ? How does

industrial sickness hinder industrial development ? 2+8+6
fiererer e R | feerer sRqael & & 2 Femre e Fenmae R
IW?
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